Remit to: P.O. Box 6344

Florence, SC 29501 843-678-9393 Order #: 15727-00002

Description: *New Biz* WLJI Radio/Political/Ck#500

Date Entered: 11/1/2022

P.O.#:

Salesperson: Rodgers, Debby

Invoice Frequency: Billed at end of Cal/EOS, Sorted by Date Notary Reg'd

Phone/Fax: 803-983-7157

Shery Smith for Sumter School Board Attn: Shery Smith 1300 Goodson Rd Sumter, SC 29153

On-Air Schedule

	Start Date	End Date	<u>Station</u>	Scheduled Time/Event	Repeated	<u>Length</u>	Qty	Rate	<u>Total</u>	M	<u>Tu</u>	W	<u>Th</u>	F	<u>Sa</u>	<u>Su</u>
1	11/4/2022	11/7/2022	WLJI-FM	06:00:00a to 10:00:00a	Weekly	:30	7	10.00	70.00	3	0	0	0	4	0	0
2	11/4/2022	11/7/2022	WLJI-FM	10:00:00a to 03:00:00p	Weekly	:30	6	10.00	60.00	3	0	0	0	3	0	0
3	11/4/2022	11/7/2022	WLJI-FM	03:00:00p to 07:00:00p	Weekly	:30	7	10.00	70.00	4	0	0	0	3	0	0
4	11/5/2022	11/6/2022	WLJI-FM	10:00:00a to 03:00:00p	Weekly	:30	14	8.00	112.00	0	0	0	0	0	7	7
5	11/5/2022	11/6/2022	WLJI-FM	03:00:00p to 06:00:00p	Weekly	:30	6	8.00	48.00	0	0	0	0	0	3	3
6	11/8/2022	11/8/2022	WLJI-FM	06:00:00a to 10:00:00a	Weekly	:30	4	10.00	40.00	0	4	0	0	0	0	0
7	11/8/2022	11/8/2022	WLJI-FM	10:00:00a to 03:00:00p	Weekly	:30	3	10.00	30.00	0	3	0	0	0	0	0
8	11/8/2022	11/8/2022	WLJI-FM	03:00:00p to 06:30:00p	Weekly	:30	3	10.00	30,00	0	3	0	0	0	0	0

Order Start Date: 11/4/2022 Order End Date: 11/8/2022 Spots: 50 Total Charges: \$460.00

Nondiscrimination Policy: Community Broadcasters LLC does not discriminate in the sale of advertising time, and will accept no advertising which is placed with an intent to discriminate on the basis of race or ethnicity. When you advertise with us, you certify that you are not buying broadcasting air time under our advertising sales contract for a discriminatory purpose, included but not limited to decisions not to place advertising on particular stations on the basis of race, national origin, or ancestry, and that this requirement is a material term of our advertising contract with you.

Projected Calendar Month/End-Of-Schedule Billing Totals for Shery Smith for Sumter School Board / 15727-00002:						
	<u>Spot Count</u>	<u>Net Billing</u>				
November 2022	50	\$460.00				
November 2022	50	\$460.00				

Confirmed & Accepted for Community Broadcasters - Sumter/Florence By:

Accepted for Shery Smith for Sumter School Board By:

Please Sign and Return One Copy

51 Commerce Street Sunter, SC 29150

2423 Walker Swinton Road Timmons ville, SC 29161

200 Regional Parkway Building C, Suite 200 Orangeburg, SC 29118 Remit to Address for all Markets:
P.O. Box 5344
P.O. SC 20150 6344
Florence, SC 20150



Community Broadcasters, LLC

ADVERTISING CONTRACT

TERMS: DUE UPON RECEIPT

CHECOLOGY DO 2011							
Date//- /- Z Z	CUSTOMER DATA	NEWORDER					
1 4		REVISION OF ORDER					
Page of		CHANGE					
ADVERTISER: Thery Imil	h Dumas School Board area.	Account#					
AGENCY NAME:	Board area	Agency Comm %					
ADDRESS: 1300 Good Don A	d	BILLING: Cash in Advance					
CITY/STATE/ZIP: Supres 5	☐ Weekly ☐ Standard Broadcast ☐ Calendar Month ☐ Package Billing						
CONTACT: 5 hery 5mi							
ACCOUNTEXEC.: Dephy Redie	25 PHONE: 803-983-	- 7157 FAX: 9 mail. com					
·							
PRODUCT: \\ \frac{\frac{1}{6}\left\left\left\left\left\left\left\left	O#500	CO-OP SCRIPT:					
	CASH / CHECK RECEIVED (CO						
	WWHM-AM/FM □WFRK-FM/WH VLJI-FM □WSIM-FM	YM □WSIM-HD3 □WTQS-AM □WSPX-FM □WQLH-AM/FM□WGFG-FM					
	WKT-FM □WSIM-HD2	□WPDT-FM □WQKI-FM					
	SCHEDULE						
	TART END RATE MON TUES	WED THUR FRI SAT SUN SPOT LINE					
	1600 1000 10 3	2/ 7 70					
2 () //	000 1500 10 3	3 6 60					
	500 1900 10 4	3 7 70					
	000 1500 8	7 7 14 112					
5 V 11-5 11-6 1	500 1860 8	3 3 6 48					
7 11-8 11-8 0	600 1000 10 4	4 40					
8 1 1/1/1/1/1/1/1/1/1/1/1/1/1/1/1/1/1/1/	000 1500 10 - 3	3 3/0					
9 /	500 1830 10 3	3 30					
10							
SPECIAL INSTRUCTIONS		000000000000000000000000000000000000000					
	CONTRACT TOTALS: 50 \$ 460						
Community Broadcasters, LLC does not discriminate in the sale of advertising time, and will accept no advertising which is placed with an intent to discriminate on the basis of race or ethnicity. When you advertise with us, you certify that you are not buying broadcasting air time under our edvertising sales contract for a discriminatory purpose, included but not limited to decisions not to piece advertising and particular stations on the basis of race national origin or except, and the this life is a contract for a discriminatory purpose, included but not limited to decisions not to piece advertising							
particular stations on the basis of race, national origin, or an Advertiser agrees to pay all contract costs, interest on the contr	ne under our auvenising sales contract for a discri icostry, and that this requirement is a material ter act helesce from the data of invalve at the sales	minatory purpose, included but not limited to decisions not to piece advertising rm of our advertising contract with you.					
ter this Advertising Contract and to all terms stated herein. The u	ndersigned and Advertises for the executive the Adve	ertiser, the undersigned hereby agrees to personally guarantee all euros owe					
Contract and that jurisdiction and venue shall be proper only in South Carolina. The undersigned certifies that he she is authorized to sign this on behalf of Advertiser.							
cepted Individually and on behalf of Advertiser	Accepted for S	Station \ \					
	FOR INTERNAL USE ONL						
APPROVED BYEN	TERED BY	REVIEWED BY					

· 3of4

NAB Form PB-17 Candidates

AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

(check application of the check application)	ole box) RAL CANDID	ATE	☑ STAT	E/LOCAL CA	NDIDATE
To Av Windo	all Themselve W, Federal Ga	s of The Lov ndidates Mu	vest Unit Chi st Sign The	arge During a Certification	a Political On Page 3
	di Location: ヹ゚ <i>゚゚゚んいし</i>	Ž /Ju	p ete s)	Date	
I, <u>J</u>	Kery Ime	yn			
being/on behalf	tot: Sher	y Omet	h		, a legally
qualified candid	date of the				political
party for the of	fice of: <u>Sur</u>	ntes 50	hool Boa	rd area	7
in the	Ceenera				
election to be h	neld on: N_0	venbe	L8	· · · · · · · · · · · · · · · · · · ·	
do hereby requ	est station time as f	ollows:			
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
30	Prime Time	60 M	J	JOX WLJ	T
	6A-7P	5 days		18 y W/B.	<u>; </u>
	16A-9A			78 9 3	
	10H-6H-1)axpsur	· ·		
		e transport of the second		Level topped a description	STERRICTMENT AND A MORE
Total Char	ges: \$ 6 76	<u>&</u>			
<u>. § Nord Begri Berdinal Victoria (r. 1</u>	State of the China Jak	alle same ned ball sadjenieroch	Most and galast Line	Later Andrews Constitution	Carried Balletin Addition

Yofe

NAB Form PB-17 Candidates

For programming that, in whole on national importance," list the mat	or in part, "communicates a message	relating to any political matter of
	,	
·		·
	No. of the control of	
•	•	
*		
I represent that this person or entite committee/organization of the leg-	ce the time as paid for by such persor ty is either a legally qualified candida	or entity. ate or an authorized
and discount, promotional and oth THIS STATION DOES NOT D	s political advertising policies, includer sales practices (not applicable to for the sales practices of the sales practices (not applicable to for the placement of advertises).	ederal candidates). CRIMINATION ON THE BASIS
To Be Signed By	Candidate or Authorize Signature	ed Committee
To Be Sign	ed By Station Represer	ntative
Accepted	Accepted in Part	Rejected
Delfyhood	3- Petry Rola	Jales /

Copyright ©2011 by the National Association of Broadcasters. May Not Be Copied, Reproduced or Further Distributed.



